N9018U
N9018

‘N
o
O} e

EN 1176

g &

=l

PLAYGROUNDS G

designed for sustainable and creative play i Y
07-08-2023 / Rev.: A

i 1 ®
Y o |
| —— ®
' 4 SMART
www.fsc.org
FsC* C|05331
YSTEM




N9018U

‘ 6645 ‘
[{o]
Te]
N
o
0
EENER
o
o
o
10707
O
7,
500
O
D O
S
—
o
N
o]
r N\
2 12h 10,7x8,2x1,3m ~384 kg ~1,03 nt
N NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N9018U

N9018 @

N3119U

N3240U /i//

N3240U

7
|

)

N3112U

N\

N3118U

LE15910 LE15901 N3210U

Parts List

0
<

PART NO

N3240U

N3119U

N3118U

N3210U

N3112U

LE15901

N I N [N P [ N N S e

LE15910




255

450
|

|, 800

856
362

95

910

N9018U

o
~
[ee]
AN

3780

4255
4440

95

381

475

661

727

856 //
1266

1482
1899
1965
2346
2596
2840
3022
3090
3334
3584
4002
4982

5046

5679

727

824

1975

4028

5094
5226

5357

5490

5626




N3240U

N3240

IA
2]
o
o

EN 1176}

u

=l

\__3-14 J

N\

100

N RNA
PLAYGROUNDS

designed for sustainable and creative play e
01-06-2023 / Rev.: C

ROBINIA
PRE-DRILLED

B

® .
SMART
YSTEM




N3240U

N3240

llolv

~2118 MAX kg/cm ~430

Max 450

600

‘\\\¥—#19

5118

3430
2
o)
S
>
N
54
O
O

>
<
=

2h 14,8 nt 51x33x045m  ~36kg ~0,23 m? @11 x 105 cm 9,3 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

J
This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



RS10038 ————

N3240U

N3240

Parts List

QTY

PART NO

DESCRIP.

RS10038

100-120-1050mm

)




N3240U

N3240

320

1555

2118 430
o
3
>< n 0 " N
© -
=
2
0
"0
N~ -— [32]
I 9 N < 8 Q
Yo} (o] N~ ~ ~ ~ (40]
Yo}
©
1875




N3240U
N3240

—
-
RS10038
LE15910
LE15901
Parts List
QTY PART NO DESCRIP.

2 LE15901 3x16, PH

LE15910 Name tag

6 RS10038 @100-120-1050mm




® ()6 j
<m_§:zm *3 \\1 #+E5 | .

<2

& ot

=z

(o B

01-06-2023 / Rev.: A



|, 250
1230

N3210U

N3210

2443

S

2100 |

/Max kg/cm

800
I

#19

5443

o
o
~
o}
2 2h 25,8 m? 54x51x025m  ~79kg ~0,15 ni @10/12 x 210 cm 19 kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3210U
N3210

S22532

D12158

RS00675

Parts List

QTY PART NO DESCRIP.

1 §22532 Taifun

RS00675 @100/120

2 D12158 @100-120mm, Assembled




‘250
1230

-

N3210U

N3210

800

1570

1960

3530

—

1695

2053

3748




D12158

Parts List
QTY PART NO DESCRIP.
2 D12158 @100-120mm, Assembled
8 L1101 M16 sleeve nut
4 L1102 M16 Threaded rod
4 L1103 @37mm
8 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
8 LE16502 Spacer 6mm
3 LE16599 Sealtite 970 1,5ml
4 RS00675 @100/120
1 S22532 Taifun

N3210U

N3210

LE16599

L1101

LE16502

LE13100

L1103

L1102

L1101

S$22532

Iﬂ
=

LE15901



N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3119U

N3119

IA
2]
o
o

EN 1176}

u

=l

~N
® .
SMART
ROBINIA
PRE-DRILLED
SYSTEM
J

01-06-2023 / Rev.: B



N3119U

N3119

2070

/ Max kg/cm %

1300
1000

513

uon

800

I \#19

5070

E
i

-
2 1h

N NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.

14 n? 51x3,1x1,3m ~41 kg ~0,08 m? @10/12x2100 cm 19 kg




N3119U

N3119

S22534

D12155

Parts List

QTY

PART NO

DESCRIP.

D12155

210/12, Assembled

$22534

Taifun




N3119U

N3119
2070
110
j%
o
33
o
=™
5 0"
o
o
[e0]
N ,,\\\7#19
o] o Te]
o] ((e] ~
o] ()] To]
~ (@) ~ o
1555
0 A T

1555




N3119U
N3119

D12155

/

LE13100
LE16599 LE16502
@
I B
LE15910
LE15901
~_| |
Parts List
QTY PART NO DESCRIP.
D12155 210/12, Assembled

LE13100 Shackle

LE15901 3x16, PH

LE15910 Name tag

LE16502 Spacer 6mm

LE16599 Sealtite 970 1,5ml

Sl |INON

S22534 Taifun




N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3118U

N3118

IA
2]
o
o

EN 1176}

u

=l

=0
==
==
=0

ROBINIA
PRE-DRILLED

B

® .
SMART
YSTEM

01-06-2023 / Rev.: C



N3118U

N3118

2070 300
o
o
™| O
~1 8
-— "O“
- . B
(p]
N
o
o
® \\\
#19
1960 ‘
\ \
4900
o
o
Tp]
= 1500 R1500
3 > o o©
a o o o
o
o
©

49x3x1,3m ~94 kg 0,304 m3 @11 x210 cm 18,6 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3118U

N3118

TV00015

=0

N

N

D20053 ]

Parts List

QTY PART NO DESCRIP.

2 D20053 @100-120-2100mm

6 RS10038 @100-120-1050mm

1 TV00015 Taifun

=0

RS10038



300

llOll

2070

0S¢

000l

oo€l

008

1960

Ggl6e

0961
c0ll

c6el
0611

088
619

69€

GGGl

e

~

1650

95

95

1650



LE16502

>
LE16599
TV00015
LE13100
D20053 —
Parts List
QTY PART NO DESCRIP.
2 D20053 @100-120-2100mm
2 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
1 LE16320 6x50 Dh
2 LE16502 Spacer 6mm
1 LE16599 Sealtite 970 1,5ml
6 RS10038 @100-120-1050mm
1 TV00015 Taifun

N3118U

N3118

-
L

RS10038

LE15910

LE15901



N3112U

N3112

IN
o2}
o
o

EN 1176}

u

=l

\__3-14 J

N\
100

19
87

N RNA
PLAYGROUNDS

designed for sustainable and creative play

ROBINIA
PR:—DRILLED

® .
SMART
YSTEM

01-06-2023 / Rev.: C



N3112U

N3112

2100 MAX kg/cm 245
o
o
o
- | O
8 llo“
'I:P) o s O
AN
o
8
T #19
1960
5100
£
/g \
(@)
o
o I ]
a e —0
<&

%

51x3x1,3m ~57 kg 0,076 m® @11 x210 cm 18,6 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



D20052
Parts List
QTY PART NO DESCRIP.
2 D20052 2100-120-2100mm
1 RS10034 @100-120-2100mm
1 TV00015 Taifun

N3112U

N3112

TV00015

RS10034

~—— D20052




N3112U

N3112

2100

1300

900

200

llOll

245

800

1960

1570

1685

1960

1555

3530




N3112U

N3112

D20052

RS10034

LE16502
LE{§1OO
L]
LE16599
TV00015
Al
#87
D20052 —=
Parts List
QTY PART NO DESCRIP.
2 D20052 2100-120-2100mm
4 L1101 M16 sleeve nut
2 L1102 M16 Threaded rod
2 L1103 @37mm
2 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
1 LE16320 6x50 Dh
2 LE16502 Spacer 6mm
1 LE16599 Sealtite 970 1,5ml
1 RS10034 @100-120-2100mm
1 TV00015 Taifun

~— D20052

Y

LE15910

LE15901

L1102

LE16599

L1101




